20239 = M MISZLHA

(HPERISHEH)
B AgANE 52
= oo |z = 2= oas | 2o
g 2 (A) (B) M==(B-A) [ HIZ(%) 2| & =) (A) (B)
M & A 1,577,941 1,537,167 A40,774 A3l M E B A 1,677,941 1,537,167
At =g 68,236 41,002 427,234 A40 AHEHI 437,324 419,849
At =g 68,236 41,002 A27,234 A40 el 368,308 361,217
KIS ALS A H ALS 66,892 40,862 ~A26,030 A39 S (Ex=) 259,203 259,203
bl == gel 1,344 140 A1,204 A90 S0 (A2) 6,443 3,943
N 1,434,938 1,434,938 0 0 Ha=2(EX3) 35,474 35,474
N 1,434,938 1,434,938 0 0 NES=JONE=Y 2,120 0
2NEx3+¢ 644,570 644,570 0 0 =g (Hoda3(2a3)) 4,150 3,973
NEEEXZZ+L 406,422 406,422 0 0 SXNSLENNYS(EXZ) 23,999 23,999
NZREEZ Y 350, 146 350, 146 0 0 ENSLENNYS(NEE) 252 18
IEtEx32+2 33,800 33,800 0 0 EXNSLENNYS(FRAZ) 900 0
SE3 46,637 33,937 212,700 N2T AN BEEEZ(EXZ) 30,244 30,244
SIS 46,637 33,937 212,700 N2T AN BEELZ(ANRY) 200 0
PNRSEE i=ragel 36,637 26,637 210,000 N2T IIEtZMAL(EX3) 4,283 4,283
HXEZ2S+L 10,000 7,300 A2,700 N2T JIEtZ AL (R E) 1,040 80
dU3 6,200 6,200 0 0 PR =LHI 10,300 6,777
dU3 6,200 6,200 0 0 JA2IH(BES3) 2,300 2,300
HolMAZ 6,200 6,200 0 0 IIA2IH(NEE) 6,000 2,477
0133 16,785 16,785 0 0 SloH(BE3) 2,000 2,000
0133 16,785 16,785 0 0 234l 58,716 51,855
HdEAT 0|&3 7,628 7,628 0 0 oul(E2x32) 714 714




2023 2023 e 20234 20234 =2t
01 &t oH Z Ak 01 At oH Z AkoH

g (A) (B) 2 g = (A) (B) o1 == (B-A)
9,157 9,157 O1HI (R E) 150 112 A38
5,145 4,305 +EHLLAR(EX3) 16,825 16,825 0
5,145 4,305 +E2HLS42(NEE) 100 70 A30
J|EFOI 201 Xt 300 10 +E2HLL42(2A3) 100 0 A100
4,845 4,295 Z3R3(E2x32) 8,011 8,011 0
ZZRS(ANRE) 300 299 N

HASU2(2X2) 5,341 5,341 0

HASUZ2(H2E) 100 0 A100

HSH(2ES) 2,940 2,940 0

NSH(REE) 100 130 30

JEt2HI(BE3) 14,900 14,900 0

JIEt2 G (KR ) 8,634 2,513 A6, 121

JEt2gHl(2a3) 500 0 A500

H 21,072 11,722 9,350

H 21,072 11,722 9,350

RAEHSHI(BES) 5,109 5,109 0

KA SHI(KHR ) 8,826 0 8,826

AEZHIRIHI(BEXS3) 6,613 6,613 0

AEZHIRXIH (RHEY) 374 0 A374

AEZHIRH(ER3) 150 0 A150

oy 1,105,300[ 1,071,190|  A34,110

Sa A 117,267 93,536 123,731

NEBAMAH(BES) 10,384 10,384 0




B M2AzE 2 (=& &)
o= 2023 20234 =2 e 2023 20234 =
off aro | zaboy 0 &b o Z At

2| g =) (A) () H==(B-A) [ HIS (%) 2| & = (A) (B) M==(B-A) | HIS(%)
IFEZAHALEI (KR E) 120 0 A120 A100

IIEZAHALEN(ZERZ) 10,894 8,500 N2,394 A22

II=MEALEN(EXZ) 3,224 3,224 0 0

II=MEALEN(ZERZ) 10,340 9,620 AT20 AT

IIENENot=XLSSHAILEI(EEXS) 22,397 22,397 0 0

IIENEMNot=XG S SHMAILE (KR E) 1,130 848 N282 A25

IIENEMNot=XGSSHAILH (ZRAS) 29,136 12,877 A 16,259 A56

EZAIGHI(BZX2) 25,125 25,125 0 0

ELZAIGHI(REE) 200 0 A200 A100

EZAIGH(ERZ2) 4,317 561 A3,756 AB7

YEW=EASH 157,229 155,852 AN1,377 A2

SEANHHI(EX2) 136,172 136,172 0 0

Y2AHH (X2 E) 1,473 9% 21,377 A93

H=22Id 19,584 19,584 0 0

S AL ArS B 4,500 4,500 0 0

S AL ArS B 4,500 4,500 0 0

ZE0IY N2 3K & ALY 20,000 20,000 0 0

23l 5,875 5,875 0 0

Ateidl 14,125 14,125 0 0

SHIAX AL 33,418 33,418 0 0

elal:]l 32,543 32,543 0 0

IAHI(ZR3) 605 605 0 0

294l 270 270 0 0




[l
[

B AYAE

Ot

= woa | zas = 1= was | zuo =2
z | & = (A) (B) H=~(B-A) | HIZ(%) z | & = (A) (B) U=~ (B-A)
OIS AL HI 35,031 35,031 0 0
el 34,717 34,717 0 0
At gl 184 184 0 0
234l 130 130 0 0
AL E X2 AL I 39,344 39,344 0 0
jelialall 34,515 34,515 0 0
234l 4,039 4,039 0 0
At gl 790 790 0 0
SSFE0tLsEHMEHNEE 56,194 55,194 21,000 A2
jelialall 31,405 31,405 0 0
Fotels ol 7,215 7,215 0
234l 5,192 5,192 0
At gl 11,382 11,382 0
A S (X2 E) 1,000 0 21,000
SSF0tLIsEHAMEHI2S E 56,194 55,194 21,000
ellalall 34,768 34,768 0
Fotels ol 6,805 6,805 0
234l 4,371 4,371 0
At I 9,250 9,250 0
A (X2 E) 1,000 0 1,000
IIE3 B ES A 98,950 98,950 0
ellalall 32,918 32,918 0
23l 2,673 2,673 0




W AYLHE =2 EERE))
s o | 2o 2 25 How | e
e g = (A) (B) 2 = (A) (B)
=TS 63,359 63,359
Qo2 4,500 4,500
F T2 O (ITOX = S0HHIEH) 4,500 4,500
2510 RI0 S AR 25 AL HI 1,000 0
2510 RI0 S AR 25 AL HI 1,000 0
] s EIPN Lo BmE= JNR=TE] 7,000 7,000 0 0
OISR L AS Ot DS AL H 7,000 7,000 0 0
2 SO ARl 2Rl Ab I 37,017 37,017 0 0
0121 33,846 33,846 0 0
2| 1,607 1,607 0 0
=] 1,564 1,564 0 0
ECURXH X A 4,500 4,500 0 0
=S 2 THA KIS AFRIH 4,500 4,500 0 0
SEAL R L 2 AFY 7,500 7,500 0 0
CH2StARI X 2 X2 AL 7,500 7,500 0 0
U2t nEASZ2AS YA 44,335 43,959
0121 33,683 33,683
2| 8,917 8,917
SYHI(XRE) 1,735 1,359
FO0ts ZE01=014 CHOISAY 5,940 5,940
=] 5,940 5,940
JbEaAe ArdHl 88,611 86,738
IEASOIAE(BED) 69,368 69,368
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Ot
I

2= Wow |z 2= Wow | Za =
21 = (A) (B) 21 = (A) (B) =(B-A)
HIELGALHN(EES) 10,636 10,636 0
HELLYR2IGH(EES) 4,836 4,836 0
IS LS AL (RRE) 3,771 1,898 N1,873
Hel2ol S X3 A 4,800 4,800 0
il 3,500 3,500 0
ArZ =2 1,130 1,130 0
da=dl 170 170 0
astsgEdA Yl 33,690 29,937 A3,753
Al 33,690 29,937 A3,753
110t X1 & AL S I 25,000 25,000 0 0
Al 25,000 25,000 0 0
A2 L E M A AL 90,900 90,900 0 0
el 60,513 60,513 0 0
23| 5,491 5,491 0 0
Al 24,896 24,896 0 0
ROt U230l = AtEHI 2,700 2,700 0 0
Al 2,700 2,700 0 0
OFZt&cla g Al 10,000 10,000 0 0
234l 1,980 1,980 0 0
Al 8,020 8,020 0 0
ZE0I2 X0 & 03O0l At I 10,000 10,000 0 0
At dl 10,000 10,000 0 0
12 ASI H 2 H Y S X & 105,680 105,680 0 0




B AgANE S22 (
e 20234 2023 =2 e 202344 2023 =
Oif &F ok 2 AroH Off &4 o4 Zan

z | & = (A) (B) H=~(B-A) | HIZ(%) z | & = (A) (B) U=~ (B-A)
oIy 42,746 42,746 0

2Z 4 15,859 15,859 0

At tl 47,075 47,075 0

AZERICHE = 2 XTI ALSH 4,000 4,000 0

2Z 4 500 500 0

At HI 3,500 3,500 0

oligigl & DIt 14,245 14,245 0

ollgigr & Jl1Et 14,245 14,245 0

Sl 14,245 14,245 0

== 0 20, 161 20, 161

== 0 20, 161 20, 161

HEE0IE3 0 20, 161 20, 161




